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Uhgustighl Yynng' Quiuit 8lp (pupwgwlwpgp) | 2wihbut dhugapp | TP [ oubuyp Seuslome s
puwn CPV wiwbmdp ghup npwd)
nuuwlwpgdwl
1 2 3 4 5 6 7
Uypwipubp
09132100 Pkught wpbdhnud quwzdwt hwpgnud thwinp 530 4000 2,120.0
34100000/1  |Uginndbpbti 1 Quwlizdwl hupgnu huwin 8500000 1 8,500.0
34100000/2 |Uyunndbpbtiw 2 qUulipdwl hwpgnul huwtn 8500000 1 8,500.0
30121500/1  |Snubpwyht pwpepheubn 1 dbly wba hwn 50000 3 150.0
30121500/2  |Snubipuyptl pwpephelbn 2 JbY wud hwun 85000 2 170.0
30197622  |@nunp U4 Snpdunh bl whid wnuth 2650 80 212.0
30197230/1 |f@npwwwlwly nbghuwnp Ukl wbé hwwn 850 15 12.8
30197230/2 |@npwwwlwl 2 onwlny Ukl wba hwwn 720 15 10.8
30197231 Duy Ukl wud hwn 28 1500 420
30192121 Sphs qunhlwynp dbl wud hwun 200 120 24.0
30199420/1 |Lpnuwiubiph pnie Yusnit gniiwdnp dby wud hwn 900 35 31.56




3019942072 |Lonuiubiph punpe Yusnil (kowlhg) Jbly wud hwitn 20U su r.ou
30199430 |Lpnuiubph pninpe dbly wd hwwn 1300 35 455
30197100  |Ywphsh wubin JGd' 24/6 dbl wud hwtn 200 10 2.00
30197100 Ywphgh wubin thnpp' 10 dby wud hwwn 100 10 1.00
22811150 Lnpwintiinp’ AS, Junwluwidnp dbly wud hwtn 300 20 6.0
22811180 Opwghp dbly wud huwtn 2600 10 26.0

39263310/1 |Opwgnyg ubnulh wofuwnwlpwihl Jbly wla hwn 2100 2 4.2

3926331072 |Opwgnyg ubnwup Jdbd dbl wud hwn 2900 2 5.8

39263310/3 |Opwgnyg wwinh Gnwdujwljuyht dbly wld hwiwn 2700 6 16.2
30192125 Cungdhs gniuwynp Jdbly wua hwitn 240 20 4.8
39831221 Udwt Juwbwine hinmy 0.5; dbl wua hwn 650 40 26.0
39831245  |O6wn, hbnniy 1) Ukl wbé hwtn 1100 45 49.5
39831242  |Ldwgph thnzh dbl wud huwtn 450 10 450
39831280 |Uwuwlh dwppbint dhong dby wba hwuwn 500 5 2.5
39812410 Ywhnyph thwjjigunn dhgng dbY wud huwwn 1100 8 5.50
39811300  |<nunwgbipdhy onh bl wa hwwn 800 25 20.0
39513200 fanpt wudknnghlubn, Gplgtipun, pwnyh dbl wud wnnuh 500 550 275.0
18421130 Qtinung nunbuwlwl dbly wld qnyg 260 5 1.30
39831281 Uwjwlh dwppdwl jwpe dbly wbid huwin 400 30 12.0
39831283  |Cwuwnwlh ugdwl jwpe Uk wud huwin 1300 5 8.5
39831272  |Uwniug, wdwl uwbwn dbl wua hwtn 300 35 10.5
39800000 |Pwihnly Ywhnypp dwppnn uthpb) dbly wud huwtn 1900 3 5.7
2083124771 | rnushuitinn hanndy” suihustignugh hud dbily wd huwn 1000 40 40.0
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Uwppnn htnnuy” uwhjjuiujuwimn duyaptup

39831247 e del wud huwn 950 5 48
39831284 |Uwppnn htnnuy' hwwnwlh hwdwp dbly wud hwin 1450 S 73
33761000 2niquipwlh e dbly wud winuh 5000 30 150.0
19641000/1 | TinjhtphEuwht wwpl, wnph hwdwp 30 JBl wué unnt 450 15 6.8
19641000/2 | MnjhtphibUwht wwpl, wnph hwdwp 60 dbly wud uinwh 1000 25 25.0
44411742 2mgupwuwlynuph dbjuwthqd Ukl wud hwin 4000 10 40.0
31687000/1 |<nuwlph Yupquwynphg 1 dbl wld hwn 1000 30 30.0
31687000/2 |<nuwlph Ywpquynphs 2 dbl wbd hwn 900 10 9.0
31512360 Mmﬂ%e: b dbly wbid huwin 3000 6 18.0
3153173071  |LEF nwwdihnth 1 dbly wud hwn 3800 20 76.0
31531730/2 |LE nwwdihnth 2 Ukl wud hwitn 1900 5 9.5
48760000 %hﬁ.hﬂﬁﬁﬂﬂmﬂﬁﬁ:ﬁ P e e dbl wd huwn 400000 1 400.0
48761200 Jdbp Yuwph widnwbgnipjwl ubpnp$hlwn dbl wtd hwn 76000 4 304.0
48960000 wﬂﬁ&%w% h“ﬁﬁmgmco ﬂ,_‘%“:sge_asc db Wb hun 485000 i 485.0
79111200 Lbpywjwgnigswluw Swiuubp dbly wbd npwd 300000 1 300.0
30236200  |UU hhgnnnueyni dily wba hwn 70000 1 70.0
30236200/1 |UU™ hhananuenil quuwpdwb hwpgnud huwin 100000 1 100.0
30236200/2 |UUT hhannnipjniu quwlpdwl hwpgnud hwwn 60000 2 120.0
3021120071 |Hnipwyhp hwdwlwpghs 1 quuwudwl hwpgnu hwn 330000 4 1,320.0
3021120072  |Hnipwlihp hwdwlwpghs 2 quwbpdwt hwpgnud hwtn 450000 1 450.0
30211190 Cwdwlwpghs qUwbgdwl hwpgnu huwin 550000 3 1,650.0




30237490 |(Unuhwnp quwtpdwl hwpgnd huwn 100000 6 600.0
30239170  [Swhs pwqdwbniiighnbiug quwtpdwl hwpgnud huwin 220000 1 220.0
31681161 Ugwnndbpbuwih dwpulyngh thgpwinphs dby wué huwin 250000 1 250.0
31211180 bnwbwq wynndwn wuguwinhs 50U dbly wba huwtn 9000 2 18.0
31600000 Eieyunpwlwt wywnndwinh uwbp del wud hwin 8000 1 8.0
31320000  (<nuwlph duniu 3X4 dbl wd dbnp 800 10 8.0
44111720 Uwihy dbl wud dbunp/pwin. 6000 40 240.0
44110000/1  |Shyuwundwpwpnine dbly wué huwn 4600 8 36.8
44110000/2 |SbLpbghu dedppwl Ubly wd hwin 12500 2 25.0
44110000/3 |D 47 dbl wud hwn 1300 2 2.6
24911900/1  |Uwihyh unuhlid (wwpl) dbly wbé hwtn 5200 10 52.0
2491190072 (Uwihyh stith dbly wus lg 3000 3 9.0
441711071 |huwsnily 1 ud bl wbd huin 2 800 1.6
44171110/2  |ruwgniy dgndh dely wud hwn 3500 2 7.0
22141300 Pnuytn dbly wua hwn 850 300 255.0
16160000  |fumnhudhs dbly wa hwun 25000 1 25.0
Uzfuwinwipubp
asasooop  |¢'SUh 2uleh uulhwbgnygUbph uwihlubnh dbl wbd npwd 990000 1 990.0
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pungpyywsd 1420 nwunuitiwljwl
hwutnwnnieiniiubiphs hunbpltunh

32400000 |dwunwlwpwpdwl, hwunwwnnygniiubph puwg dpgnyp npwd 141600000 1 141,600.0
ubppht hwdwlywpgswihl gwlgbph, wpfuwwnnn
hwdwlwpghsubph dpwgnuiht n
nbhuthbwlwt ywwuwnlydwl Swnwinueini
Sndubiph Jwéwnph W dwdihnpanipjniitiph
12 dbl wud d 2000000 1 ,000.
nn Yuwqiwlbpwydw dwnwjniyeinditbip 4w i o0 Aa000
Uywnndbpliwbibnh wwhwjwbdwl
1 bl wba d 900000 1 I
50111170 Sissnampieditdn y w npw 900.0
1 ghztipwlwgny wptnwqlw funphprwlgnipjut
U u h 00 !
55111200/1 (gt Sy quwpdwl hwpgnul npwd 30000 1 3,000.0
1 ghpbipwljwgny wpunwqw funphpwlgniejwl
uwldwl h 3000000 1 ,000.
55111200/2 i Sunuyngyois quuwtipdw hwpgnud npwd 00 3,000.0
2 ghotipwlwgny funphpruwlignip)nil-
55111200/3  |Ubpwwwinpwundwt YuqdwlEpwdwt quuwpdwl hwpgnud npwd 6000000 1 6,000.0
Swnwynipjuls
Zwdwhupgswht & jEugwnuyhls uwpptiph
wwhwwudwl b epwinpngiwl
50300000 |dwnuwjnipnditip dbl wud npwd 400000 1 400.0
Muinbbwhwldwl vwppbnh Yepwbnpngdwl
Swnuwinueinilibn
50891200 |Hytluwpwlwl vwppwynpnwutiph Unpngnu dbl wd npwd 100000 1 100.0
72411700 kbt widwtnwiubp dbly wua hwtn 10000 7 70.0
64211100 Zwlpwiht hbnwjunuwhl Swawnyjniibbip dbly wbd npwd 116000 1 116.0
64211130 Poowyhl hbnwunuwjht dwnwjnipiniittp Ukl wud npwd 883000 1 883.0
h
65300000  |RMMnPuilpwlinuppuil puipfuduil 4 o hinn dbl wud YyLun/d 50 130,000 6,500.0
Yuwwywd dwnwynipjniibn
2ph pwpludwl b npw hbwn Yuwws
65200000 3
dbl wud 200 : 1
90400000 Swnwjnipnitibn Uy w d 1,500 300.0

Ynyninnt hbwn Yuwywd dwnwjnygniiitip




Swgh puw2fudwl W npw houn juwywos

3
65200000 St dbly wud d 144 10,417 1,500.0
Ququuywndwl hwdwlwpgh nbfuthjulywu
db 0] !
76130000 Sl ki i l wld npw 270000 1 270.0
Ybugwnuwiht wnph hwdwpdwl
dbly wud 206000 1 !
90511200 S pamieetin l w npwd 0600 206.0
Qwjwuwhwlwl hwdwlwpgswht
d !
48441300 iiicgi s sl dbl wba nnuw 210000 1 210.0
®ntuwnpwdhengubph htivn Yuwywd
dbl wbid d ;
66511170 AL o i Sy by w npw 120000 1 120.0
92410000 «%npdp» wduwgph pwdwlnprwgnpnigntu dbl wud npwd 112000 1 112.0
u s
niesige [ leodpiuuiinh bbbl wneigoo dbly wiia Apwd 25000 1 25.0
dwnuynipintl
Upfuwwnwlhgubiph Yepwwwinpuumndwb
79631200 By dby wbd npwd 600000 1 600.0
50711100 Onnpwlhsh Ypwunpngdwl dwnwjnigjn Ukl wud npwd 100000 1 100.0
79211150 Uniphuinpulwl Swnw)nipjni Jbl wud npwd 980000 1 980.0
80500000 | lwaduihl nunigiul dipunyuinpuundul gl wid huin 85000 9 765.0
Swnwynyzintl
Nuwnuwiwlwl dEnbwplubph Wwinpwundwi
h g
92311180 PR S dbly wud wn 85000 9 765.0
Shuwbuwlwt Yuwnwdwpdwl
d .
79411120 orbinmutaduingh Asuptanils bl wld npwd 230000 1 230.0
90910000 |Uwppnthnt dwnwjnigni dbl wba npwd 230000 1 230.0
Cunwdbup’' 199,657
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puwn CPV widwlunuip ghtp nnwd)
nuuwlwpgdwl
1 2 3 4 5 6 7
Uwpwuptbp
30197621 bihy swpinh pnune dbl wud huwtn 2720 15 40.8
22811150 Unpwuinbunbnp quuywuwlynd A4 dil wud huwn 600 200 120.0
30192121 Snhs dbly wba hwin 200 200 40.0
30192125  (Uwplbp Ukl wud hwwn 230 32 7.4
Dwnuynipjniiibp
55320000 |Uttnh dunnmgdwl dwnwjnipinil Ul wd npwd 990000 1 990.0
60231200  |Srbuwnnunuihl thiofuwnndu dbl wd Anwd 990000 1 990.0
Swnwyniginlibp
cLHuUeLLe 2,188.2




